
Trig & 3-Space 

Matrices Review 

 

 

Given the following Matrices:  A = 








 645

123
 B = 













813

624
 C = 







 

64

13
 

 

 

1) Solve the following using the matrices above. 

 

a) 2A+3B   b) A-B    c) A-3B  

 

d) C 2    e) 3C    f) 2C+C 2  

 

 

 

2) Multiply: 

 

a)   264
















8

1

0

     b)  






 

810

132

















13

61

50

 

 

 

c)  








43

21









6

5
     d)  

















 24

35

21














152

143
 

 

 

 

3) Find the Inverse of the following matrices using the determinant method: 

 

a)  








13

11
      b)  









 71

24
 

 

 

 

4) Find the Inverse of the following matrices using the unit matrix method: 

 

 

a)  












12

49
     b)  









67

1012
 

 

 

 

5) Solve for “x” and “y” using matrices: 

 

a) 
225

1632





yx

yx
  b) 

1334

16342

932







zyx

zyx

zyx

   c) 

36237

17354

1523







zyx

zyx

zyx

   

 

 

 


